
KSFX 11E
3269560 



-1-

TUBO (AISI304/Ø50)
SUPPORTO (AISI304)
SCATOLA (AISI) 
TUBO L=53cm
TUBO
TUBO
PARATIA SX (AISI304)
TRAVERSA SX (AISI)
PARATIA (AISI304)
PARATIA (AISI304)
PARATIA (AISI)
PARATIA DX (AISI304)
TRAVERSA DX (AISI)
PIEDE (h.150mm)
FASCETTA
VITE (m8x35)
ROSETTA
VITE (m5x12)
VITE (m4,2x13)
ETICHETTA ADESIVA
TETTOIA (AISI304)
PARATIA
VITE (m12x40)
ROSETTA GROWER
ROSETTA

2
1
2
2
1
1
1
1
1
1
1
1
1
4
4
4
4
12
5
1
1
1
4
4
4

3174360
3181770
3181870
111AA08
3243150
3243140
3175960
3175930
3175980
3175950
3175900
3175970
3175940
36C2970
3140160
31A0040
3122550
31E0020
31M7030
3044070
3192850
3192740
3074810
3123670
3120050

N.    DENOMINAZIONE    Q.tà COD.ARTICOLO

1
2
3
4
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
26
27
28
29
30

PIPE (AISI304/Ø50)
SUPPORT (AISI304)
BOX (AISI) 
PIPE L=53cm
PIPE 
PIPE 
PROTECTION (AISI304)
CROSSPIECE (AISI)
PROTECTION (AISI304)
PROTECTION (AISI304)
PROTECTION (AISI)
PROTECTION (AISI304)
CROSSPIECE (AISI)
FOOT (h.150mm)
HOSE CLAMP
SCREW (m8x35)
WASHER
SCREW (m5x12)
SCREW (m4,2x13)
LABEL
CANOPY (AISI304)
PROTECTION
SCREW (m12x40)
WASHER GROWER
WASHER

N.      DENOMINATION      Q.ty       CODE

16
17

28

18

GBIT

KSFX 11E
3269560

19

20

3044070

21

13

1 2

4

3

3

15

8
9

11

10

14

6

1

4

12

15

15
15

1
2
3
4
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
26
27
28
29
30

2
1
2
2
1
1
1
1
1
1
1
1
1
4
4
4
4
12
5
1
1
1
4
4
4

3174360
3181770
3181870
111AA08
3243150
3243140
3175960
3175930
3175980
3175950
3175900
3175970
3175940
36C2970
3140160
31A0040
3122550
31E0020
31M7030
3044070
3192850
3192740
3074810
3123670
3120050

26

27
7

29

30



- 2 -

KSFX 11E
3269560

15



- 3 -

KSFX 11E
3269560

silicon

6

silicon

7



KSFX 11E

- 4 -

3044070

21

3269560

Only for FX GAS



KSFX 11E

- 5 -

3269560

2

ø3,25 mm

A

B

C
ø3,25 mm

20
D

18
17

14

9



- 6 -

KSFX 11E
3269560

ø3,25 mm

10

3

20

3

19

12

UP



- 7 -

KSFX 11E
3269560

8

13

19

19

19

19

19

19

19

19

11



- 8 -

KSFX 11E
3269560

26

27

19

19



- 9 -

KSFX 11E
3269560

4

16

16

4

1
1



KSFX 11G
KSFX 11 GG USA
KSFX 11 GE USA

3269560



-1a-

TUBO (AISI304/Ø50)
SUPPORTO (AISI304)
SCATOLA (AISI) 
TUBO L=53cm
TUBO 
TUBO 
PARATIA SX (AISI304)
TRAVERSA SX (AISI)
PARATIA (AISI304)
PARATIA (AISI304)
PARATIA (AISI)
PARATIA DX (AISI304)
TRAVERSA DX (AISI)
PIEDE (h.150mm)
FASCETTA
VITE (m8x35)
ROSETTA
VITE (m5x12)
VITE (m4,2x13)
ETICHETTA ADESIVA
SCAT. ASPIR. (AISI) 
PROT. ASPIR.  (AISI)
TETTOIA (AISI304)
PROT. TUBI (AISI 304)
TUBO USCITA FUMI
USCITA FUMI(AISI304) 
DADO M5 INOX
VITE TE (m5x12) INOX
PARATIA
VITE (m12x40)
ROSETTA GROWER
ROSETTA

2
1
2
2
1
1
1
1
1
1
1
1
1
4
8
4
4
18
7
1
1
1
1
1
2
1
6
6
1
4
4
4

3174360
3181770
3181870
111AA08
3243150
3243140
3189190
3175930
3175980
3175950
3175900
3175970
3175940
36C2970
3140160
31A0040
3122550
31E0020
31M7030
3044070
3189110
3192860
3192850
3192890
3192840
3188600
3110280
31A0380
3192740
3074810
3123670
3120050

N.    DENOMINAZIONE    Q.tà COD.ARTICOLO
1
2
3
4
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
24
25
26
27
28
29
30
31
32
33
34
35

PIPE (AISI304/Ø50)
SUPPORT (AISI304)
BOX (AISI) 
PIPE L=53cm
PIPE 
PIPE
PROTECTION (AISI304)
CROSSPIECE (AISI)
PROTECTION (AISI304)
PROTECTION (AISI304)
PROTECTION (AISI)
PROTECTION (AISI304)
CROSSPIECE (AISI)
FOOT (h.150mm)
HOSE CLAMP
SCREW (m8x35)
WASHER
SCREW (m5x12)
SCREW (m4,2x13)
LABEL
ASPIRATION BOX 
INLET PROTEC.(AISI)
CANOPY (AISI304)
PROTEC. PIPE
SMOKE OUT PIPE
SMOKE OUT (AISI304) 
NUT M5 INOX
SCREW (m5x12) INOX
PROTECTION
SCREW (m12x40)
WASHER GROWER
WASHER 

N.      DENOMINATION      Q.ty       CODE

16
17

18

GBIT

KSFX 11G
3269560

19

20

3044070

21

13

1

3

15

11

14

1

15

15 15

1
2
3
4
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
24
25
26
27
28
29
30
31
32
33
34
35

2
1
2
2
1
1
1
1
1
1
1
1
1
4
8
4
4
18
7
1
1
1
1
1
2
1
6
6
1
4
4
4

3174360
3181770
3181870
111AA08
3243150
3243140
3175960
3175930
3175980
3175950
3175900
3175970
3175940
36C2970
3140160
31A0040
3122550
31E0020
31M7030
3044070
3189110
3192860
3192850
3192890
3192840
3188600
3110280
31A0380
3192740
3074810
3123670
3120050

3

 44

7

6

8

 9

24

25

26

27

28

28

31

30

2

10 12

29

32
33

34

35



- 2a -

KSFX 11G
3269560

15



- 3a-

KSFX 11G
3269560

29

ø3,25 mm

20

ø3,25 mm

silicon

6

silicon

7



KSFX 11G

- 4a -

3044070

21

3269560



KSFX 11G

- 5a -

3269560

18
17

14

9

Only for FX GAS



- 6a -

KSFX 11G
3269560

ø3,25 mm

3

3

2

ø3,25 mm

A

B

C
ø3,25 mm

20

D



- 7a -

KSFX 11G
3269560

10

2019

24

12

UP



- 8a -

KSFX 11G
3174431

13

19

19

19

19

19

19
19

8

24

19



- 9a -

KSFX 11G
3269560

26

19

19

19

11



- 10a-

KSFX 11G
3269560

1
1

27

19

19



- 11a -

KSFX 11G
3269560

281)

2)

30

4

16

16

4



- 12a -

KSFX 11G
3269560

3

19
19

27

31

31

ONLY FOR STACKABLE KIT USA FOLLOW
THE INSTRUCTIONS ON THE NEXT PAGE

FOR “KSFX11 GG” OR “KSFX11 GE”. 

Important



KIT 6300870-6300871-6300872

3215360
 - 1 -

A

B

1

2 3

4 5



3215360
 - 2 -

A

1

6 7

8 9

10 11



3215360
 - 3 -

A

B

12 13

14 15

16 17




